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There are six members C, D, K, L, M and R in
a family, which consists of three generations.
There are two couples in the family. R is the
father of C, who is the father of M.C has no
brother. K is the mother-in-law of D. Neither D
nor M is male. L is the sister of C.
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There are six members C, D, K, L, M and R in
a family, which consists of three generations.
There are two couples in the family. R is the
father of C, who is the father of M.C has no
brother. K is the mother-in-law of D. Neither D
nor M is male. L is the sister of C.

How is L related to D?

a. Aunt

b. Sister

c. Daughter

d. Sister-in-law

e. None of the above



There are six members C, D, K, L, M and R in
a family, which consists of three generations.
There are two couples in the family. R is the
father of C, who is the father of M.C has no
brother. K is the mother-in-law of D. Neither D
nor M is male. L is the sister of C.

How is M related to D’s husband?

a. Daughter

b. Sister

c. Grand Daughter

d. Niece

e. None of the above



There are six members C, D, K, L, M and R in
a family, which consists of three generations.
There are two couples in the family. R is the
father of C, who is the father of M.C has no
brother. K is the mother-in-law of D. Neither D
nor M is male. L is the sister of C.

How K related to L?

a. Daughter

b. Sister

¢. Mother

d. Niece

e. None of the above



There are six members M, Q, R, S, T and V in
a family which consists of three generations. Q
is the daughter-in-law of M.R is the only son of
S, whose mother has a sibling. M has more
than one son. T is a female member. S is not
the uncle of R.
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There are six members M, Q, R, S, T and V in
a family which consists of three generations. Q
is the daughter-in-law of M.R is the only son of
S, whose mother has a sibling. M has more
than one son. T is a female member. S is not
the uncle of R.

How is T related to S?

a. Sister

b. Daughter

c. Aunt

d. Sister-in-law

e. None of the above



There are six members M, Q, R, S, T and V in
a family which consists of three generations. Q
is the daughter-in-law of M.R is the only son of
S, whose mother has a sibling. M has more
than one son. T is a female member. S is not
the uncle of R.

How is V related to R?

a. Sister

b. Uncle

¢. Grandfather

d. Can’t be determined

e. None of the above



There are six members M, Q, R, S, T and V in
a family which consists of three generations. Q
is the daughter-in-law of M.R is the only son of
S, whose mother has a sibling. M has more
than one son. T is a female member. S is not
the uncle of R.

How R related to V?

a. Sister

b. Uncle

c. Nephew

d. Son

e. None of the above



Eight member, P, Q, R, S, T, U, V and W belong to a
family consists of four generations. No single person
in the family is a parent. W’s father’s only sister’s
father’s mother is Q. S is the only daughter-in-law of
P, who is married to Q. R is the father of U. T is the
only sister-in-law of V. T is unmarried. Gender of W
and U is same.
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Eight member, P, Q, R, S, T, U, V and W belong to a
family consists of four generations. No single person
in the family is a parent. W’s father’s only sister’s
father’s mother is Q. S is the only daughter-in-law of
P, who is married to Q. R is the father of U. T is the
only sister-in-law of V. T is unmarried. Gender of W
and U is same.

How is Q related to T?

a. Mother

b. Grand mother

c. Father

d. Brother

e. None of these



Eight member, P, Q, R, S, T, U, V and W belong to a
family consists of four generations. No single person
in the family is a parent. W’s father’s only sister’s
father’s mother is Q. S is the only daughter-in-law of
P, who is married to Q. R is the father of U. T is the
only sister-in-law of V. T is unmarried. Gender of W
and U is same.

Which of the following statement is true regarding
R?

a. R is father of P

b. R is brother of U

c. R is sister of S

d. Ris father of T

e. None is true.



Eight member, P, Q, R, S, T, U, V and W belong to a
family consists of four generations. No single person
in the family is a parent. W’s father’s only sister’s
father’s mother is Q. S is the only daughter-in-law of
P, who is married to Q. R is the father of U. T is the
only sister-in-law of V. T is unmarried. Gender of W
and U is same.

Who is the grandfather of U?

a. Q

b. R

(il

d.S

e. None of these



P # Q means P is the son of Q.

P * Q means P is the husband of Q.
P % Q means P is the wife of Q.

P $ Q means P is the mother of Q.
P & Q means P is the brother of Q.

IfG#L#A*B 3D then how is G related to D?

a) Aunt

b) Uncle

c) Niece

d) Nephew

e) Cannot be determined



P # Q means P is the son of Q.

P * Q means P is the husband of Q.
P % Q means P is the wife of Q.

P $ Q means P is the mother of Q.
P & Q means P is the brother of Q.

FB% D#G % F # A then how is A related to
D?

a) Grandmother

b) Grandson

c) Granddaughter

d) Grandfather

e) Cannot be determined



P # Q means P is the son of Q.

P * Q means P is the husband of Q.
P % Q means P is the wife of Q.

P $ Q means P is the mother of Q.
P & Q means P is the brother of Q.

IfA*B$DS$G*E, then how is A related to G?

a) Husband

b) Grandson

c) Granddaughter
d) Grandfather

e) Father



*10 $ means * is mother of $
*8 $ means * is sister of $
*9 $ means * is father of $
*7 $ means * is brother of $
*6 $ means * is wife of $

*5 % means * is son of $

If#10% 5 $9 & 6 @ then how % is related to
@?

a) Soninlaw

b) Brother inlaw

c) Sisterin law

d) Cannot be determined
e) None of these



*10 $ means * is mother of $
*8 $ means * is sister of $
*9 $ means * is father of $
*7 $ means * is brother of $
*6 $ means * is wife of $

*5 % means * is son of $

F#5+9=8>10 % then how % is related to = ?

a) Sisterin law

b) nephew

c) Brother in law

d) niece

e) cannot be determined



*10 $ means * is mother of $
*8 $ means * is sister of $
*9 $ means * is father of $
*7 $ means * is brother of $
*6 $ means * is wife of $

*5 % means * is son of $

If$8%7"6+9* *then which of the following
number should be in between * and * ? to prove
that * is nephew of % .

a) 9
b) 5
c) 7
d) 6
e) 10



*10 $ means * is mother of $
*8 $ means * is sister of $
*9 $ means * is father of $
*7 $ means * is brother of $
*6 $ means * is wife of $

*5 % means * is son of $

If! 7@ 9 #5 & then how & is related to! ?

a) Soninlaw

b) Brother in law
c) Daughter in law
d) sisterin law

e) None of these



A x B means B is mother of A
A — B means B is brother of A
A + B means B is sister of A
A - B means B is father of A

If the expression M x N + R = T is true, then
which of the following is true?

a) Mis son of R
b) Nisauntof T
c) M is granddaughter of T

d) T is father of N
e) None of these



A x B means B is mother of A
A — B means B is brother of A
A + B means B is sister of A
A - B means B is father of A

Which of the following means ‘Q’ is brother
of ‘T’?

a)Y+Q-T+R
b) T+Q-Y-R

c) TxM-R+Q
dT+M=-Y+Q
e) None of these



A x B means B is mother of A
A — B means B is brother of A
A + B means B is sister of A
A - B means B is father of A

If the expression M - Q - D - F + C, then
which of the following is true?

a) C is daughter of F
b) F is niece of C

c) Cis sisterof F

d) D is father of M

e) None of these



Z is the mother of X is represented by X@Z
Z is the Wife of X is represented by X $ Z

Z is the sister of X is represented by X # Z
Z is the son of X is represented by X * Z

IfF#J*T$ R @ L, then which of the following
is definitely true?

a) L is the brother of F

b) F is the sister of L

c) F is the brother of J

d) L is the motherinlaw of T
e) None of these



Z is the mother of X is represented by X@Z
Z is the Wife of X is represented by X $ Z

Z is the sister of X is represented by X # Z
Z is the son of X is represented by X * Z

Which of the following indicates the
relationship
‘R’ is the daughter of T?

a)R#F*B$ T
b) F*B$ T@R
c) T@B#R*F
dT@B#F*R
e) None of these



Z is the mother of X is represented by X@Z
Z is the Wife of X is represented by X $ Z

Z is the sister of X is represented by X # Z
Z is the son of X is represented by X * Z

M*H@ D * K, represents what relation of K
with respect to M?

a) Nephew

b) Father

c) Brother

d) Son

e) None of these



‘P $ Q" means that P is the Father of Q,
‘P + Q" means that P is the sister of Q,
‘P + Q" means that P is the son of Q,

‘P = Q’ means that P is the brother of Q,

Which of the following means that C is the
sister of D?

a)C=P=+D
b)P+D+C
c)D+-P=C
dD=C=+P
e) None of these



‘P $ Q" means that P is the Father of Q,
‘P + Q" means that P is the sister of Q,
‘P + Q" means that P is the son of Q,

‘P = Q’ means that P is the brother of Q,

Which of the following is definitely true about
C+A+-B?

a) B is the uncle of C

b) Ais the son of C

c) B is the husband of A
d) C is the nephew of B
e) None of these
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